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BEMSFDNEHFEE k5 LN BB B IL=45m 5,700 |12 3
REMRXRNERFEE RE-+H- M FAIEET BB R IL=130m 15,000 [12 2
BEMSFDNEHFEE HiEK B 5™ RAHKEIL=27m 10,800 |13 3
REMBXRNEFEE J\IED FEm HEKEE TL=70m 2,900 [13 2
BEMSFDNEHFEE s FEH FAHEK R TL=50m 2,500 |15 2
REMBXRNERFEE &% FEm REEKBIL=75m 3,100 |14 2
BEMSFDNEHFEE A FEH K TL=45m 1,900(14 2
REMRXRNERFEE THE EtrEm RAHKEBIL=74m 6,000 |13 3
BEMSFDNEHFEE {=iEPHT Bt BEK R TL=60m 6,000 |11 4
REMEEERIEREE EXHER2H BRHERX s R U B SR T L=870m 6,000 |18 2
BEMSEHEMHIETRESE ERXEFIE2H BRTERX B E&4 T L=1,000m 6,000 |19 1
REMEEERIEREE AKX N2 BEmHEKE |HERRUESMIL=330m 6,000 [15 3
BEMSEHEMHIEIRESE ERBBTERK BETEX Fy T L=1,200m 4,000 |19 1
REMEEERIEXREE ERXIR/ E BRHERX FHEEM T L=540m 4,500 (18 2
BEMEERMNEHFERE EXiE BME™ BRWIEIL=20m 34,980 (12 1
REMRXRNEFEE MAR e FHEE#f TL=90m 3,600 [13 1
BEMSFDNEHFEE HEH #MAT RKEIL=167m 6,300 |10 4
REMRXRNERFEE RASAHKE #ith FAHEKBEL=64m 4,998 (15 2
BEMSFDNEFEE WZRINEE2 el R THHEEIN=T1K 1,791 [17 1
REMBXRNERFEE BRI EMTMREBER  |#EEAERBII=100m| 21,000 [15 2
BEMSFDNEHFEE #HFT-36 ik o BEEEN-1 1,800 (19 0
REMRXRNEFEE RE-4 bt iy TO—k/ LT EEN=1R 1,500 (19 0
BEMSFDNEHFEE AH-3 ik o KPR TEEN=1E 1,800 (19 0
REMBXRNERFEE HZEE-62 T I TS A AEHL=30m 1,500 (17 0
BEMSFDNEHFEE ERA) ENMTIEX O 1501 YN FEEN=2 5 1,980 (19 0
REMRXRNERFEE K&4-2) EMTWILR (TS AU EH#L=44m 1,650 (17 0
BEMSFDNEHFEE Fi&(8) ENMTIEX IRMTFS A AEHEL=43m 1617 [17 0
REMBXRNEFEE Fi&(9) ENRTIER I TSA B HEL=46m 1,749 (17 0
BEMSFDNEHFEE HEm01) ENMTIERX IRMTFS A AEHEL=38m 1452 (17 0
REMRXRNERFEE TEF04) EMTWILR I TS A AEHL=39m 1,485 (17 0
BEMSFDNEFEE =f01) ENMTIEX IRMTFS A U AEHEL=40m 1,518 [17 0
REMRXRNEFEE S EMTHAER BREFEEHN-1HX 1,947 [19 0
BEMSFDNEHFEE -3 EMTERX A= BHFHN=1K 1,320 (19 0
REMRXRNEFEE FLl-2 EMTAER E—H—EHN=-1X 990 |19 0
BHMEXENEHESE [ifoRd EMTERX BKHIE R BB B EZIN=1 2 660 |19 0
REMRXRNEFEE il EMTHER VTS —EHIN=1 660 |19 0
BEMSFDNEHFEE KIE-1 ENMTIERX Bk —NEHIN=1 1,287 [19 0
REMRXRNEFEE ERESB EMTHAER BeKT—FEHN=1 990 |19 0
BEMSFDNEFEE mR EMTERX HEKT —FEHN=1K 990 |19 0
REMRXRNEFEE A EMTHER HkS —REHHN=1 1,485 [19 0
BEMSFDNEFEE R EMTERX TUHFEHMN=1X 1,782 |19 0
REMBXRNEFEE Rk ERTALR I TS A AEH#L=64m 1,914 (17 0
BEMSFDNEHFEE #E ENMTIERX IRMTFS A AEHEL=63m 1,881 (17 0
REMBXRNERFEE =AR ENRTIER INATSAAEHEL=5Tm 1,716 |17 0
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REMRXRNERFEE Fith EMTAER 4TS AEHEL=64m 1,914 |17 0
BEMSFDNEHFEE PE3 EMTERX IRMTFS A AEHEL=63m 1,881 (17 0
REMRXRNERFEE T EMTAER 4TS A AEHEL=59m 1,782 |17 0
BEMEERMNEHFERE TEN ERTWHX IRATS5A U 1EHL=62m 1,848 |17 0
REMBXRNEFEE NI EMTHER I TS A B HEL=56m 1,683 (17 0
BEMSFDNEHFEE AAR EMTERX IRATS A AEHEL=61m 1,815 [17 0
REMBXRNERFEE ek ] EMTATELR  |EBEHEILS179m 6,600 [19 0
BEMSFDNEHFEE AR 5K 4815 ENTERX FYRITU ATL=65m 2,100 |19 0
REMRXRNERFEE B IZ K15 EMTHERK YR ITIVAIL=95m 2,700 (19 0
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